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TWA : 0.02mg/m3
ACGIHH # &

TWA 0.02 mg/m’



KK
m
i
H
&M
iior
O
B

15 ug/L (End of shift at end of workweek, Cobalt in urine), 1 ug/L (End of shift at end of workweek, Cobalt in blood)

R

J
Ll
H

o
33
4

n
B
&M
ior
Ho
0
Rl
Rr

ic
Kt
i
H
ol

<+

£ ALZSHALE, 371

E [

RT
R0
o

ZHl= Mt& B2t

—
[

FALE AFESL

10

iof

ol

)

(]
H

[0
ol

]
7o
)
ok
ok

|
G

FAI2

=557+ 0.2 mg/m32 T+

! 2 S (loose-fitting)

a
=

]l

(3

o)

SE55I10.5 mg/m32 Tt

o)

pS|
=

-

X
=

LESTIH 1 mgm3EL 2 B3R

FAI2

1o
oo
KM

i

QPA EI0IATE HEOHAL

|.O| Oted
=, &5/

CE

__OH
E)
ol
Ju
180

Kl

=55t 20 mg/m3ELH &

tHH SJ1d 132 HEGHAIL

9]

=2 B8t

(SCBA)
5

eirar S 20 T

=

=k

SIIAL Il

=2

ol

FAI2

0l Xt=2
22Xt H201 018 AXN0l A S HIEAIE (AR AL

=550 200 mg/m32 T

—
[

i)
Rl
Rr

9

I 25

XA

FAIL

10
00
KM
ol
o

of

ol

Kl
o)
R
Rr

9

It 212
Lt &M

0l
53
n

Chemical Book

ct. pH



00
3

n

RO
Ju

RO
JI]
4

ol
&3
1

RO

158 “C(760mmHg)

Ab.O13HE

ol
&3
4

0o
3

n

dl, J1Hl)

X

o134 (2

At

o
&3
4

o)
)
o)
20
ol
oF
ill
ol
Hr
JIJ
tH
o1

ol

K

0o
3

n

It. 521

1.41 mHg (25C)

U
no

00

0o
3

n

L4
al

_J
Klo
=

o
&3
4

ot. HI=

2.587

& B Hl = (Kow)

/

o
&3
4

[l
&3
n

O.2d2%

ol
&3
4

AN
o

.

00
53
n

L

0

I

366.74

Chemical Book



0
0l0

J

ok
X0
K0

—_

oJ

X0
Jo

o
0l
J
S
Ok

ok

RO
ol
Rr
ol

ol

0o

[

JUJ

0o

<+
ot
ol
Ol
L]

ol

= EHXI & 2U Jt

lotd, 22 Al

O
e

al

Al
Ki

o

=
1o

=

or

K
o

HOF &

o

Ct. 1l

RU
Oy
30
o
]
(]
OHy
X0
3)

R
OH
i)
0k
J

X0

1o

I

Iy
K0
o)

—

1. sS40

iy
RO

ioJ

0o
3

n

]
R0
0
o
O

A0

Lh. A

LD50 387 mg/kg &1 & & : Rat

=
&0

0o
53

=

X0
nr

J
=
X0
<
Ik
I+

=

o
33
4

700
Ok

ol
00

%0

X0

ol

=

L]
ol

0o
3

n

X0

ol
=1
il

1=

0l 2%/ AS. /Cobalt compounds/

B
—oe

=

== DN

[l
&3
4

Chemical Book



~
I+
o
H
00
~

oD
ol

ok

ok
Wi
ol
:n_

IARC

2B (Cobalt and cobalt compounds)

OSHA

0o
53
4

ACGIH

A3 (Cobalt and inorganic compounds, as Co)

NTP

o
&3
4

EU CLP

ol
3%
4

X0
[

fil
H
T
20

o
33
4

X0
_.|+_ﬁ

<
20

[l
33
n

Rr
=
RO
ur

0o
3

4

Rr
=
R0
ur

0o
3

n

R
B

ol
0D

00
3

n

30
30
X0

=
o

U3

0l
&3
n

00

X0
r

20

Uk
Ki

0lo

R
=
IH
5k
R
ik
KJ

R
Uk

-

Kl

0l
53
4

=

X0
b
il

0o

X0
L
Ho
O

m)

X0
i
Ho

Chemical Book



ol
&3
4

X0
B
IH
20

0l0

[l
&3
n

o
33
4

vl
=]
(AT

J

13. FEFE L DVE

i)l

JHHOI Y

0o
3

n

(=13
S

Lt HIJIAl =2l At

FAIL.

[¢]

2ret ¢
( 7Ol HAIE LR T2t WSS 812 HDI

il

SN

+:

14. Hik L0y

(UN No.)

of
Il
&l
Ok

30
Rr
L
RO
Rr

0o
&

00

=
[[s}

S0 A2

Ch. 2

0o
o

00

-
o

a
U

00

0o
&

00

=
[[s}

R
il
30
o0

=
o

o
33
It

Hi. AFS XL

=3
K
20

b

S Al BI

0
&

00

=
[}

0o
&3
a0

=
[}

15. BA M & &

Chemical Book



(]
O
&0
Rl
KH

K
H

Al

st

0o
&3

00

-
o

Al

5t

cl&E ol 2

3

0o
&3

00

=
[}

Al

HOI=S2cl Hol 2 st

ct.

0o
&3

00

-
o

Al

5t

O JIet =2l 2 2A==0 2

=W

00
&3

00

=
[}

JIEF 2 W 7 H

0lo
[

00

=
[}

=AM

02222 (0OSHARE)

0o
[E

00

-
([}

0|2 22l X 2 (CERCLA 7 &)

0o
&8

00

-
([}

0l=22| & 2 (EPCRA302 7 &)

0o
&3

00

-
([}

02228 2 (EPCRA 304 7 3)

0o
&3

00

-
o

0|2 22| & 2(EPCRA313 7 &)

0o
&3

00

-
o

R
o

ol
B0

R0
n
gl
nr

0o
[

00

=3
o

RN
il
or
i
o
il
Ur
<l

iy
R0
n
gl
n

0o
[

00

=3
[}

R
O
3
R0
of
oft

w
il
i
R0
n
)
mr

00
&3

00

=
[}

—_

e
falll
I
iy
RO
W
i
RO
I
it

0o
338

00

=
o

0k
160
oF
iy
R0
Uk
il

0o
&

00

=
[[s}

1]
4
iy
R0
Uk
il

0o
&3

00

=
[}

100

AL

F

KO

16. 1 S 2

10

Chemical Book



A2 =H

n=2gs

n2ARS
IS HELR
2023-12-23

ch. JIEt

=
fU
%0
0l

IR KBt

0l MSDS2| HE = X &= MBS0 HELH 222 AKX = 0l MESH UE S22 Eg=0ls EEEX EsULL0I MSDS=
M AETH0 Heftet 82 NS 22 MEX0AHE HS 22t 2E NMSELICH= MSDS2| AFEXHE = SDS2| HEg &0l ol =&
HOl gHEhS LHefOF 8tCh& MSDSS| & Xt= & MSDS AFS2 2 Q18 O [Her &Aool CHoH M & MU S XXl ZsULICH

Chemical Book



